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    →   x = [image: image4.png]



Основное логарифмическое тождество:
[image: image6.png]alogab



 = b
Свойства логарифмов:

1) [image: image8.png]log,a



 = 1
2) [image: image10.png]


 = 0

3) [image: image12.png]log,(b-c)



 = [image: image14.png]


 + [image: image16.png]log,c



 
4) [image: image18.png]b
l0ga ()



 = [image: image20.png]


 - [image: image22.png]log,c
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 = k · [image: image26.png]
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[image: image38.png]alagcb



 = [image: image40.png]b logca




9) [image: image42.png]


 = [image: image44.png]logpa




10) [image: image46.png]


 = [image: image48.png]logcb

log:b




11) [image: image50.png]


  = lg b
12) [image: image52.png]lg 10



 = 1; [image: image54.png]lg 100



 = 2; [image: image56.png]lg 0,1



 = -1 … 
13) [image: image58.png]


  = lg b
14)    [image: image60.png]


  = ln b , где  e = 2,741828…
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